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Kupcarnos M.H. Pemeonuk. Teopernueckada mexaHuka c. 272.

Bapuant 1

a b

a=>50cMm, b="T0 cmM,
¢ =60 cMm, R =60 cMm,
m1 = 60 kr, ms = 10 KT,
a = 0.1 pag, L =40 cwm,
M, =33Hwm t=4c.

a=25cM, b=>55cmM,
c =40 cm, R = 30 cwm,
mi1 = 25 Kr, ms = 10 KT,
a = 0.07 pag, L =15 cMm,
M, =03 Hwm t=4c.

a=25cMm, b=45 cmM,

T o1 To c=35cMm, R =30 cm,
& m1 = 25 Kr, ms = 10 KT,
a = 0.07 pag, L =15 cMm,
4 ac -’2 zZ M,=03Hwmt=4c.
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Bapuant 4 b
‘ ‘ ‘ a =30 cMm, b =40 cwm,
T2 o1 T c=35cM, R =40 cm,
* Q m1 = 85 Kr, ma = 6 KT,
a =0.14 pag, L = 20 cMm,
4 lg zZ M,=45Hwm t=3c.
« 7. 7.
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Bapuant 5 b
‘ ‘ ‘ a =40 cMm, b = 50 cwm,
T2 o1 T c =45 cMm, R =45 cm,
b = m1 = 5D KI, mg = 18 KT,
a = 0.15 pag, L = 30 cm,
ac 4 lg zZ M,=1Hwm t=6c.
7. 7.
Y2 Y Y




Bapuant 6

a =30 cMm, b =150 cmM,
c =40 cm, R =40 cwm,
m1 = 45 Kr, mo = 6 KT,
a = 0.06 pag, L = 20 cwMm,
M, =14 Hwm, t=3c.

BapnaHT 7

}@54

a=25cMm, b=45 cmM,
c=35cMm, R =30 cm,
m1 = 45 kr, ms = 10 KT,
a =0.11 pang, L =15 cMm,
M, =0.6 Hm, t =4 c.

Bapuant 8

T2

/

Y2

a =45 cMm, b =55 cmM,
¢ =50 cMm, R =50 cm,
m1 = 50 kr, mo = 10 Kr,
a =0.12 pag, L = 35 cMm,
M, =22Hwm t=4c.

BapMaHT 9 ,

)‘5@@1

a=>50cMm, b="T0 cmM,
c =60 cMm, R =55 cwM,
mi1 = 45 Kr, ms = 14 Kr,
a =0.12 pag, L =40 cm,
M, =1.6 Hm, t =5 c.

BapMaHT 10,

@Q

Y2

a =50 cMm, b =60 cmM,
c=>55cMm, R =55 cm,
m1 = 45 Kr, mg = 18 KT,
a =0.13 pag, L =40 cm,
M, =12Hwm, t=6c.

BapMaHT 1,

/LE@//I

a =45 cMm, b = 65 cmM,
c=55cM, R =50 cm,
m1 = 40 kr, ms = 14 Kr,
a =0.11 pag, L = 35 cMm,

Z M,=11Hwm t=5c.




Bapuant 12

a =20 cMm, b =150 cmM,
c=35cMm, R =30 cm,
m1 = 90 kr, mo = 18 Kr,
a =0.18 pag, L =10 cMm,
M, =0.7Hm, t =6 c.

Bapuant 13

T

A
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a=35cM, b= 065 cmM,
¢ =50 cMm, R =40 cm,
m1 = 30 kr, me = 10 Kr,
a = 0.08 pang, L =25 cMm,
M, =0.7Hwm, t =4 c.
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a =20 cMm, b =50 cmM,
c=35cM, R =25 cwm,
mi = 955 KI, ma = 6 KT,
a =0.12 pag, L =10 cMm,
M, =1Hwm t=3c.
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a=45cMm, b="T5 cmM,
¢ =60 cMm, R =50 cm,
m1 = 50 Kr, ms = 14 KT,
a =0.13 pag, L =35 cm,
M, =15Hwm t=5c.

Bapuant 16

x2

Y2 7

n

a =45 cMm, b =55 cmM,
¢ =50 cMm, R =55 cm,
m1 = 85 KrI, mg = 18 KT,
a =0.17 pag, L = 35 cMm,
M, =24 Hwm, t =6 c.

Bapuant 17

a =30 cMm, b =060 cmM,
c=45cMm, R =35 cm,
m1 = 45 kr, ms = 10 Kr,
a =0.11 pag, L =20 cMm,
M, =09 Hwm, t=4c.




Bapuant 18

T2

Y2 Y1

a =50 cMm, b =60 cwMm,
c=55cM, R =55 cm,
mi1 = 25 Kr, ma = 6 KT,
a = 0.06 pan, L =40 cwm,
M, =1.7Hwm, t =3 c.

Bapuant 19 ,

a =30 cMm, b =50 cmM,
¢ =40 cm, R =40 cwm,
m1 = 90 kr, ms = 14 KT,
a = 0.17 pag, L = 20 cwMm,
M, =19 Hm, t =5 c.

Y2 Y1

a =30 cMm, b =40 cmM,
c=35cM, R=35cm,
m1 = 55 Kr, ms = 14 KT,
a =0.14 pag, L = 20 cMm,
M, =08 Hu,t =5 c.

BapMaHT 21,

)‘5@@1

a =45 cMm, b = 65 cwm,
c=>55cMm, R =50 cm,
m1 = 25 Kr, ms = 14 KT,
a = 0.08 pag, L = 35 cMm,
M, =0.6 Huv, t =5 c.

Bapuant 22,

Y2 Y1

a =40 cMm, b = 50 cwm,
c =45 cMm, R =45 cm,
m1 = 30 Kr, mg = 14 Kr,
a = 0.09 pag, L =30 cm,
M, =0.6 Hm, t =5 c.

BapMaHT 23,

/LE@//I

a =40 cMm, b = 60 cwm,
c =50 cMm, R =45 cm,
m1 = 60 Kr, ms = 14 Kr,
a = 0.15 pag, L = 30 cm,

zZ M,=16 Hm, t=5c.




BapnaHT 24,

x2
/L : -

Y2

a=25cMm, b=45 cmM,
c=35cMm, R =30 cm,
m1 = 30 Kr, ma2 = 6 Kr,
a = 0.07 pag, L =15 cMm,

zZ M,=0.6Hwm t=3c.

BapnaHT 25,

X2
/L - :

Y2

a =30 cMm, b =50 cmM,
c =40 cm, R = 35 cm,
mi1 = 45 Kr, ma = 6 KT,
a = 0.1 pag, L =20 cwm,

zZ M,=15Hwm t=3c.

Bapuant 26, b c
‘ ‘ ‘ a =35 cM, b = 65 cwm,
T o1 ro €=050cM, R =40 cm,
= m1 = 40 Kr, ms = 6 KT,
a = 0.09 pag, L =25 cMm,
A < B % M,=17Hw t=3c.
7 7
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Bapuant 27, b B
‘ ‘ ‘ a =55 cMm, b = 65 cwm,
To T T c =60 cMm, R =60 cwMm,
s m1 = 65 Kr, ma = 10 Kr,
a = 0.15 pag, L =45 cMm,
OcC 4 -’g zZ M,=49 Hwm t=4c.
/ 77 7.
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Bapuant 28, b c
‘ ‘ ‘ a =30 cMm, b = 60 cwm,
T o1 ro Cc=45cM, R =35 cm,
= m1 = 65 KI, mg = 6 KT,
a =0.14 pag, L = 20 cMm,
£ < B % M, =27Hwm, t=3c.
7. 7.
y o Y2
Bapuant 29, b c
‘ ‘ ‘ a =50 cMm, b = 60 cwMm,
T2 o T c=>55cMm, R =55 cwm,
& m1 = 30 kr, mo = 18 xr,
a = 0.1 pan, L =40 cwm,
ac T zg zZ M,=0.7Hwmt=6c.
7. 7.
n
Y2 " y




Bapuant 30, b

a=25cM, b=>55cmM,

xo c=40cM, R =30 cm,

m1 = 35 KI, ma = 6 KT,
a = 0.08 pag, L =15 cMm,
zZ M,=0.7Hwmt=3c.
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0.266
0.222
0.222
0.639
0.139
0.365
0.267
0.294
0.177
0.124
0.164
0.165
0.231
0.562
0.188
0.159
0.285
0.359
0.245
0.204
0.124
0.140
0.218
0.404
0.501
0.476
0.357
0.640
0.094
0.409

1.065
0.889
0.889
1.918
0.835
1.094
1.067
1.177
0.884
0.743
0.819
0.993
0.926
1.687
0.942
0.956
1.141
1.076
1.224
1.018
0.620
0.698
1.091
1.212
1.502
1.427
1.428
1.919
0.566
1.228

0.000
0.000
0.000
1.319
0.000
2.353
0.000
0.000
-9.492
0.000
-9.074
0.000
0.000
0.984
-7.656
0.000
0.000
7.742
-2.692
-4.058
-12.564
-9.545
-5.676
2.500
2.353
3.261
0.000
1.690
0.000
2.195

5.714
4.286
4.286
0.000
-7.397
0.000
2.727
5.833
0.000
-11.429
0.000
-1.667
6.250
0.000
0.000
-6.117
3.636
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
6.000
0.000
-15.000
0.000

60.000
52.143
37.857
-41.978
-59.863
35.882
33.182
-62.500
66.610
-74.286
61.852
34.167
63.750
28.361
74.531
-62.864
49.091
-69.677
36.731
-46.087
68.333
-62.727
51.351
32.500
35.882
50.000
-72.333
38.873
-78.750
38.902

-0.015
0.128
-0.141
-8.237
1.607
-0.371
-0.254
-4.130
1.282
2.232
0.984
0.364
0.207
0.434
-2.472
5.010
0.066
-8.569
2.163
8.009
0.598
5.992
1.304
-0.507
-1.161
1.233
-7.802
1.069
1.906
0.560

-1.591
0.604
-0.387
1.432
11.414
0.113
-0.541
-14.332
-0.290
12.034
-0.240
-0.973
1.093
-0.086
0.525
16.929
1.349
2.656
-0.353
-1.573
-0.193
-1.717
-0.239
0.139
0.258
-0.288
-27.009
-0.186
6.964
-0.152

-1.050
-0.461
-0.193
3.824
-0.856
-1.065
-0.146
3.100
3.097
-1.340
2.303
-0.067
-0.786
-2.141
6.817
-4.006
-0.636
5.793
2.033
-5.107
1.284
-3.945
3.692
-0.815
-1.545
-4.286
6.196
-5.488
-1.227
-1.917

-2.942
-1.789
-0.798
-0.665
-7.653
0.324
-1.166
9.481
-0.700
-8.056
-0.562
2.748
-3.235
0.423
-1.448
-11.170
-3.951
-1.795
-0.332
1.003
-0.414
1.130
-0.677
0.224
0.343
1.001
17.832
0.953
-4.656
0.520




